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TEST-DATA

—
Fs1 1.200 1.000
Fs2 1.200 1.100
Fs3 3.000 2.000
Fs4 1.200 1.000
khl - 0.130
kh2 - 0.130
B m 12.000
D m 11.200
50.000
quck kN/ 400.0
a - 1.000
) B - 1.000
S(7)
y(KN/m®) | () C(N/ )
19.60 33.00 11.00 16.50 15.00
Hb(m) Bb(m) Xb(m)
7.000 12.000 0.000
QKN/ )= 10.000
( ) Tm | y/m)
70 0.300 17.00 As
" T1 1.200 8.00 As
T2 2.000 8.00 As
T3 8.000 7.00 A
T4
S(7)
) @(<) C(kN/ )
_T0 25.00 25.00 12,50 0.00
2 T1 25.00 25.00 1250 0.00
T2 25.00 25.00 12.50 0.00
T3 0.00 0.00 0.00 20.00
T4
) Lvkwmd) | (=) | CkN/ )
3) 9.00 30.00 0.00

@

(

)
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TEST-DATA

or o)
) P(7) (<) a=) Ka/Kea
11.00 0.00 0.273
33.00 16.50 0.00 0.351
25.00 0.00 0.355
As 2500 12.50 0.00 0.468
-1 25.00 0.00 0.355
As 2500 12.50 0.00 0.468
-2 25.00 0.00 0.355
As 2500 12.50 0.00 0.468
-3 0.00 0.00 0.00 1.000
A 0.00 0.00 1.000
-1: a= 0.00 (=)
or o)
) @(°) (<) a(=) Kp/Kep
11.00 0.00 4,984
33.00 16.50 0.00 5591
25.00 0.00 5.599
As 2500 12.50 0.00 3.134
-1 25.00 0.00 5.599
As 2500 12.50 0.00 3.134
-2 25.00 0.00 5.599
25.
As 500 12.50 0.00 3.134
-3 0.00 0.00 0.00 1.000
A 0.00 0.00 1.000
-1: o= 0.00 (=)




Ka=

Kea=

Kp=

cos® (¢ — 0)

cos’ 6 cos(6 + 5){1+ \/

sin(¢ + o) sin(¢ — )

COS?(¢_90 B ‘9)

cos(@ + &) cos(f — )

T

cost), cos’ 9cos@ + b, + 5. ){l+\/

cos’ (¢ + 6)

cos® @ cos(6 + 5){1— \/

sin(¢ — 8)sin(¢ + a)

cos' (¢~ 6, +6)

cos(f + &) cos(0 — «)

T

Sin(g + 5, ) Sn(g—a — 6,) T

cos@ + 6, + 5z ) cos — @)

cosf, oS’ O cos(@ — 6, + O ){1—\/

5 0R00S

()
()

() O=tan"'(kh)

sin(¢—o:)sin(@+a—6,) i
cos(@ -6, + o) cosl@ —a)



TEST-DATA

Y h > (y h)+q
NO | Hm) | hm) | yk/md) | o ) S() | conz ) | az ) | s ) Ka oakN/ ) | phens ) | pvkns )
0.000 10,000 0273 0.000 0.000 0,000
S0 7000 19.600 33.000 11.000 15000 | 137.200 —10000 - _0.000 N L
7,000 147200 0.355 52.256 47.360 22.084
1 3001 0300 17.000 25.000 25.000 0.000 5100 ——e5300 0.355 54.067 49.001 22.849
7.300 152.300 0.355 54,067 49.001 22.849
2 L33 1200 8.000 25.000 25.000 0.000 9600 152300 ot 21,001 b "
8.500 161.900 0.355 57475 52.090 24.290
3 os00| 2090 8.000 25.000 25.000 0.000 | 16000 ——27g50 0.355 63.155 57.237 26.690
10.500 177.900 1000 137900  137.900 0.000
4 18500 8000 7.000 0.000 0.000 20.000 | 56.000 23355 1000 193900  193.900 0.000
0.000
18.500 pa=Ka =(y h+q) - 2 C VKa
ph=pa cos(d)
pv=pa sin(d)
Y h >(y h)
NO | Hm) | hm) | yew/md) | o ) S() | cenvz ) | wz ) | vy ) Kp opkN/ ) | phans ) | pvikns )
0.000 0,000 5.599 0.000 0.000 0,000
1 —o300] 0300 17.000 25000 | -25000 0000 5100 5.100 5.599 28.555 25880 | -12.068
0.300 5.100 5.599 28.555 25880 | -12.068
2 238 1200 8,000 25000 |  -25.000 0000|  9.600 S0 209 20 S
1.500 14.700 5.599 82.305 74594 | -34.784
3 300 2090 8.000 25000 | -25000 0.000 | 16.000 30.700 5.599 171889 | 155785 |  -72.644
3.500 30.700 1,000 70.700 70.700 0,000
4 23 8000 7,000 0.000 0.000 20000 |  56.000 — T 00
11.500 pp=Ka =(y h)+2 C /Ka

ph=pp cos(d)
pv=pp sin(d)




TEST-DATA

NO H(m) h(m) ph(kN/ ) Pa(kN/m) ya (m) Pa ya(kN m)| pv(kN/ )| Pv(kN/m) xv (m) | Pv xv(kN m)
0.000 0.000 0.000
~ 000 7.000 54,060 84.212 13833 | 1,164.927 4677 16.369 12.000 196.429
7.000 47.360 22.084
1 7300 0.300 29001 14.454 11.349 164.042 55 849 6.740 12.000 80.881
7.300 49.001 22.849
2 8.500 1.200 £5 090 60.654 10.594 642.565 54.990 28.284 12.000 339.403
8.500 52.090 24.290
3 10.500 2.000 57037 109.327 8.984 982.227 6.690 50.980 12.000 611.760
10.500 137.900 0.000
4 18.500 8.000 193.900 1,327.200 3.775 | 5,010.133 0.000 0.000 12.000 0.000
1,595.847 - 7,963.894 - 102.373 - 1228.473
NO H(m) h(m) ph(kN/ ) Pp(kN/m) yp (m) Pp yp(kN m)
0.000 0.000
1 0.300 0.300 55 880 3.882 11.300 43.866
0.300 25.880
2 1500 1.200 74594 60.284 10.503 633.165
1.500 74.594
3 3500 2.000 155 785 230.379 8.883 2046.343
3.500 70.700
4 11.500 8.000 126.700 789.600 3.622 2859.733
1,084.145 - 5,583.108




TEST-DATA

Y h > (y h)+q
NO | Hm) | hm) | vaavmd) | ol ) Se( ) | conz ) | vz ) | s ) Kea peakN/ ) | phtkn/ ) | pvkns )
0.000 0.000 0.351 0.000 0.000 0.000
00984 7.000 19.600 33.000 16.500 15000 |  137.200 300 2o 2000 i ALl
7.000 137.200 0.468 64.210 62.638 13.898
1 L33 0300 17.000 25,000 12,500 0.000 5100 |—oL200 2o o210 e 1389
7.300 142.300 0.468 66.596 65.018 14414
2 gsoo| 490 8.000 25.000 12500 0.000 9600 —— 1500 0.468 71,089 69.404 15.387
8.500 151.900 0.468 71.089 60.404 15.387
3 os00| 2000 8.000 25.000 12.500 0.000 | 16000 ——<=5h0 0.468 78577 76.715 17.007
10.500 167.900 1.000 127900 | 127.900 0.000
4 18500 2000 7.000 0.000 0.000 20.000 | 56000 ——>2950 1000 | 183900 |  183.900 0.000
0.000
18.500 pea=Ka =(y h+q) - 2 C VKa
ph=pea cos(de)
pv=pea sin(de)
Y h >(y h)
NO | Hm) | hm) | vaawvm3) | o ) () | convz )y | aaz ) | k) Kep oepN/ ) | phtns ) | pukns )
0.000 0.000 3.134 0.000 0.000 0.000
1 —o300] 0300 17.000 25000 | -12.500 0000 5100 5.100 3.134 15.983 15.605 23.459
0.300 5.100 3134 15.983 15.605 73.459
2 oo 1200 8,000 25000 |  -12.500 0000| 9600 S S e o S
1.500 14.700 3.134 26070 44.978 20.971
3 =300 2090 8.000 25000 | -12.500 0.000 | 16.000 30.700 3.134 96.214 93933 | -20.824
3.500 30.700 1,000 70.700 70.700 0.000
4 |22 8000 7.000 0.000 0.000 20000 |  56.000 S Yoo ST o
11.500 pep=Ka =(y h)+2 C Ka

ph=pep cos(dD)

pv=pep sin(D)




TEST-DATA

NO H(m) h(m) ph(kN/ ) Pa(kN/m) ya (m) Pa ya(kN m)| pv(kN/ )| Pv(kN/m) xv (m) | Pv xv(kN m)
0.000 0.000 0.000
~000 7.000 29132 101.963 13.833 1,410.495 8.629 30.203 12.000 362.435
7.000 62.688 13.898
1 7300 0.300 65.018 19.156 11.349 217.401 14414 4247 12.000 50.961
7.300 65.018 14.414
2 8500 1.200 69.404 80.653 10.593 854.397 15387 17.880 12.000 214,564
8.500 69.404 15.387
3 10,500 2.000 76.715 146.119 8.983 1,312.632 17007 32.394 12.000 388.725
10.500 127.900 0.000
4 18.500 8.000 183.900 1,247.200 3.761 4,690.133 0.000 0.000 12.000 0.000
1,595.091 - 8,485.057 - 84.724 - 1,016.686
NO H(m) h(m) ph(kN/ ) Pp(kN/m) yp (m) Pp yp(kN m)
0.000 0.000
1.000 0.300 0.300 15.605 2.341 11.300 26.450
0.300 15.605
2 1500 1.200 44978 36.349 10.503 381.779
1.500 44978
3 3500 2.000 93.933 138.911 8.883 1233.880
3.500 70.700
4 11.500 8.000 126.700 789.600 3.622 2859.733
967.201 - 4,501.841




[TEST-DATA

h(m) b (m) Al ) V(kN/m3) | Whb(kN/m) Xi (m) Mb(kN m/m)
3888 12.000 42.000 19.600 823.200 8.000 6,585.600
7.000 0.000 0.000 19.600 0.000 0.000 0.000
- 0.000 - 0.000 0.000 0.000 0.000

- - 823.200 - 6,585.600
h (m) B (m) Y(kN/m3) | Ws (kN/m) Xi (m) Ms(kN m/m)
As 0.300 12.000 17.000 61.200 6.000 367.200
h (m) B (m) V(KN/m3) | Ww (kKN/m) xi (m) Mw(kN m/m)
As 1.200 12.000 8.000 115.200 6.000 691.200
As 2.000 12.000 8.000 192.000 6.000 1,152.000
A 8.000 12.000 7.000 672.000 6.000 4,032.000
11.200 - - 1,040.400 - 6,242.400

> Wb KN/m 823.20

2 Ws KN/m 61.20

> Ww KN/m 1,040.40

Pa KN/m 1,595.85

Pv KN/m 102.37

Pp KN/m 1,084.14

> Wb xi kKN m/m 6,585.60

> Ws xi KN m/m 367.20

>Ww xi | KN m/m 6,242.40

Pa ya KN m/m 7,963.89

Pv xv kKN m/m 1,228.47

Pp yp KN m/m 5,583.11




h(m) b (m) Al ) VY (KN/m3) | Wb(kN/m) Xi (m) Mb(kN m/m)
2888 12000 | 42000| 19600 | 823200 8000 | 6585.600
7.000 0.000 0.000 19.600 0.000 0.000 0.000
- 0.000 - 10.000 0.000 0.000 0.000

- - 823.200 - 6,585.600
b(m) | Ws(knN/m) kh BK(kN/m) yi (m) Mbk(kN m/m)
12.000 | 823.200 0.130 107.016 13.833 1,480.388
0.000 0.000 0.130 0.000 15.000 0.000
- 823.200 - 107.016 - 1,480.388
h(m) | Ws(kN/m) kh SK(kN/m) yi (m) Msk(kN m/m)
As 0.300 61.200 0.130 7.956 11.350 90.301
h(m) | W (KN/m) kh WK(KN/m) yi () Mwk(kN m/m)
As 1.200 | 115.200 0.130 14.976 10.600 158.746
As 2.000 [ 192.000 0.130 24.960 9.000 224.640
A 8.000 [ 672.000 0.130 87.360 4.000 349.440
11.200 | 979.200 - 127.296 - 732.826

> Wb kN/m 823.20

>Ws kN/m 61.20

> Ww kN/m 1,040.40

BK kN/m 107.02

SK kN/m 7.96

WK kN/m 127.30

Pae kN/m 1,595.09

Pve kN/m 84.72

Ppe kN/m 967.20

>Wb xi kKN m/m 6,585.60

Mbk kN m/m 1,480.39

>Ws xi kN m/m 367.20

Msk kN m/m 90.30

>Ww xi kN m/m 6,242.40

Mwk kN m/m 732.83

Pae ya kKN m/m 8,485.06

Pve xv kN m/m 1,016.69

Ppe yp kKN m/m 4501.84




TEST-DATA

Pa KN/m 1,595.85
PS KN/m 1,595.85
> Wb KN/m 823.20
> Ws KN/m 61.20
> Ww KN/m 1,040.40
Pv kN/m 102.37
>V KN/m 2,027.17
- FR kN/m 1,170.39
>V tancp | kN/m 1,170.39
TaB KN/m 1,200.00
CB KN/m 0.00
Pp kN/m 1,084.14
PR KN/m 2,25453 | FR+Pp
Fs = PR/PS = 1.41 1.20 OK
-1 FR ( P-97)
1)
2)
. FR=XV tang V. .
:FR=Ta ap B Ta

Ta=1/2cca=1/2 ap quck=
=1/2 0.500 400.0=100.00(kN/ )

ap: quck: B:
:FR=C B C: B:

Pa ya | kN m/m 7,963.89

MD kKN m/m 7,963.89
>Wb xi [ kN m/m| 6,585.600
>Ws xi | kN m/m 367.200
>Ww xi | kN m/m| 6,242.400
Pv xv KN m/m| 1,228.470
Pp yp KN m/m| 5583.110

MR kKN m/m | 20,006.780

Fs = MR/MD = 251 1.20 OK




Pa KN/m 1,595.09
BK KN/m 107.02
SK KN/m 7.96
WK KN/m 127.30
PS KN/m 1,837.37
> Wb KN/m 823.20
> Ws KN/m 61.20
> Ww KN/m 1,040.40
Pv KN/m 84.72
>V KN/m 2,009.52
-t FR kN/m 1,160.20
>V tane| kN/m 1,160.20
Ta B KN/m 1,200.00
CB KN/m 0.00
Pp kN/m 967.20
PR kKN/m 2,127.40 | FR+Pp
Fs = PR/PS = 1.16 1.00 OK
-1 FR ( P97)
1)
2)
- FR=>V tang >V (o}
:FR=Ta ap B Ta

Ta=1/2cca=1/2 ap quck=
=1/2 0.500 400.0=100.00(kN/ )

ap: quck: B:
FR=C B C. B:
Mbk kKN m/m 1,480.39
Msk kKN m/m 90.30
Mwk kKN m/m 732.83
Paya | kN m/m 8,485.06
MD kKN m/m| 10,788.58
>Wb xi | kKN m/m| 6,585.600
>Ws xi | kN m/m 367.200
>Ww xi | kN m/m| 6,242.400
Pv xv kKN m/m| 1,016.690
Ppyp | kN m/m| 4501840
MR kKN m/m | 18,713.730
Fs = MR/MD = 1.73 1.10 OK




[TEST-DATA

()

H1 m 7.000 7.000
v1 kN/m® 19.60 19.60
W1=H1 y1 | kN/ 137.20 137.20
- Q kN/ 0.00 10.00
H2 m 0.30 0.30
Y?2 kN/m® 17.00 17.00
W1=H2 y2 | kN/ 5.10 5.10
W=W1+W2+Q | kN/ 142.30 152.30
quck kN/ 400.0 400.0
ap - 0.500 0.500
W?=W/ap | kN/ 284.60 304.60
Fs=quck/W~ - 141 131
Fs4 - 1.20 1.00
Fs 120 Fs 1.00

) i OK OK




TEST-DATA

MD KN m/m 7,963.89

MR KN m/m | 20,006.78

>V KN/m 2,027.17

B m 12.000

d m 5941 | d=(MR-MD)/=V
m 0059 | e=B/2-d

ql KN/ 17391 | ql==V/B(1+6e/B)

42 KN/ 163.95 | ¢2==V/B(1-6e/B)

MD KN m/m | 10,78858

MR KN m/m | 18713.73

>V KN/m 2,009.52

B m 12.000

d m 3944 | d=(MR-MD)/=V
m 2056 | e=B/2 - d

ql KN/ 33068 | gl=2>V/(3d)

42 KN/ 000 | g2=0




C )

B (m) 12.000
q (kN/_) 173.91
q (kN/_) 339.68
1 Y (kN/m’) 17.000
h(m) 0.300
9 v (kN/m°) 8.000
h(m) 1.200
3 Y (kN/m’) 8.000
h(m) 2,000
4 Y (kN/m’) 7.000
h(m) 8.000
v (kN/m°) 0.000
h(m) 0.000
>h (m) 11.500
p=>(y h) P KN/ ) 86.700
v (kN/m°) 9.000
@ () 30.000
C(kN/ ) 0.000
Fs 3.0
Fs 2.0
Nc 30.1

Ng 184 1142
Nr 14.0
o 1.00
B 1.00

Qu;=cx C Nc +1/2 B v B Nr+P Ng Qu 2351.28 | Terzaghi
Qa 783.76
Qa=Qu/Fs Qea 1175.64
Qa q=17391 OK
Qea  (=339.68 OK




TEST-DATA

ql kN/ 173.91
q2 KN/ 163.95
gmax kN/ 17391
quck kN/ 400.00
ap 50.000
oca KN/ 200.00 quck ap
Fs kN/ 115 | oca/gmax
Fs 120 NG

ql KN/ 339.68
q2 KN/ 0.00
gmax KN/ 339.68
quck kN/ 400.00
ap 50.000
oca kN/ 200.00 quck ap
Fs KN/ 059 | oca/gmax
Fs 1.00 NG




TEST-DATA

Ps KN/m 159585 | 1,837.37
Pr KN/m 2,25453 | 2,127.40
Mo KN m/m | 7,963.89 | 10,788.58
Mr KN m/m [ 20,006.78 | 18,713.73
al kN/ 17391 339.68
q1==V/B(1+6e/B) | 1=2V//(3d)
kN/ 163.95 0.00
q2 (2==V/B(1-6¢/B) q2:0
Fs=Pr/Ps - 141 1.16
Fsl - 1.20 1.00
Fs Fsl - =t ©
Fs=Pr/Ps - 2.51 1.73
Fs2 - 1.20 1.10
Fs Fs2 - — ©
max(g1,q2) kN/ 173.91 339.68
Qa kN/ 783.76 | 1,175.64
Qa max(gql,92) - o o
w kN/ 142.30 152.30
oca=ap quck | kN/ 200.00 200.00
Fs=oca/W - 141 131
Fs4 - 1.20 1.00
Fs Fs4 o o
max(g1,q2) kN/ 17391 339.68
oca=ap quck | kN/ 200.00 200.00
Fs=oca/gqmax - 1.15 0.59
Fs4 - 1.20 1.00
Fs Fs4 - > <
B m 12.000
D m 11.200
quck kN/ 400.0
50.000
A - 1.000
( B - 1.000




